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Hor, YnaaHGaaTap XOTHH 1999 OHH naaMHH ecBepuftH
aBapra maprrapyyrnax ToMuasHufir I999 OHH 2-p capHH 22-28-HH
enpyynsxn Huftensnu#tn Bonoscpor TepuftH daftpanm spyyncyraft.

Xo8ép. ToMmupanuft Tamupuum,nyyIgguitH maTHall 30pdynaH
I17500 Terpermfir crnopTHH apra Xs5Mx33HUR TOcBOeC I'apraxHT
HA-60 C. HapaHusuer-T 3eBmespcyIaft,

TypaB, ToMmussHult Teceuiir HOTHYI'95p, TOMUBHAAT 30XNOH
w AByynax myyranuitH OypsnmsxyyHufir xo€pmyraap XamcpanTaap TyC
Tyc Garancyraft.

JIepeB. ToMmupsHuAT Y351 cypTan 30xuoH GaftryynanTuH
OHTSD XBMEDBHE ABYYJaXHI' mMYYTUuiiH 3e0Bnenk maanracyrait.
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H 38caT’ FAPTHH ISPTaIdX
RMED CTOPTHH XOPOOHH IaprHH
| TymaanHd I-p XxamepantT.
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Hor. Tommpanmt Teces

I. TaMupumHH marHan

B-p Gaitp 3 x 3000 Ter = 9000 Ter
2-p Gaftp 3 X 2000 Ter = 6000 Ter
3-p Ga#tp 3 x I500 Ter = 4500 Ter

6yrr = 19500 Ter

2. lyyraoufia marﬁan
7 x7 x 2000 Ter = 98000 Ter

ﬂuﬁT IYH = II7500 Ter
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